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BEES X4 RMOAE (FHRTREAXF) |E@E (M) (BHiRiE | zemonmws @ae
1 BLZWL FIR FIRAEEIL 1-324 3,182 pu T#HE (H29)
2 BLEWL ZRER FHR 14-206 4,006 pu THHE (H29)
3 BLEWL R FER 17-2 188 M FHHE (H30)
4 BLEWL SR FEHA 20-1 1,713 H T#HE (H30)
5 BLEW R FER 22-1 4, 401 M FHHE (H30)
6 BLEW H¥H FHEHE 356-5 2,086 pu T#HHE R1)
7 BLZWL HEHHE FARFA 99-117 2,229 pu T#HE R1)
8 BLEW JRFE FEEXK 9-2 2,279 H THHE R3)
9 FEYURLVELRZL| HEFH FigiR  11-14 6,123 pu T#HE (H27)
10 FEYRLWVELRZL| HEHH FHgiR 11133 48 pu TEE (H2T)
11 SEU =Ly B FEIL 342 3,132 P ReEHE H2T)
12 Y=y =EE FHER 97125 3,308 pu T H44E (H28)
13 |FJ|YULLWELEL| ZER FHER 14-43 1,061 bl REEE (H29)
14 |J|YEWELEW| RxER FHR 14-T 2,075 1 REEE (H29)
15 |[FEYLLV/ELEWL| ZER FHR 14-235 996 bl REEE (H29)
16 ZYLWELEL| XEBR  FHR 28-8 1,712 1 T HE (H29)
17 SEY =Ly =EH FEEF 997 197 H T#HE R1)
18 Y=Ly H¥H F&EH 1003 3,928 H #HE R1)

19 FEY Ty REER  FREE 105-2 2,999 M THHE RT)
20 FEYURLELRZL| HEFH FEIR  47-137 2,850 P ReEHE R
21 Y=y % FHE  213-64 4,794 pu T#E R2)
22 FEY =l BFXF  FX 901 1,582 bl REEE R3)
23 FEY Ty BYX¥  FKx 101-1 581 b REEE RI)
24 FY=1 iR Filzt 165-10 690 H T#HE R3I)
25 Y=y T+ FmA 187-1 167 H REEE R3)
26 SEY =Ly s FHE  213-136 1,030 pu T#HE R3I)
27 BLEW AR FEHE 483 13,526 1 T#HE R3)
28 SEY =Ly £ N VN KiRHE 52 2,941 H T#HE R3I)
29 FEY Ty AR KIREE  55-1 93 M THHE RI)
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BEES X4 RMOE (FHRTREAXT) |E@E (M) Rk E | zemonmws @6e
30 EY= AR K##E 55-2 79 H T#HE R3I)
31 Y=y TN VN KiriE  118-41 2,259 pu HE (R2)
32 FY= HHHE SIMER 23-110 306 P #E (RI)
33 BLEWL #iR =@ 156-1 4,911 pu THE (R4)
34 BLEW R ARAEERL 1-248 2,073 bl REEE R
35 BLEWL #iR  WRIBELL 1-249 865 1 HReEERD
36 BLEWL ®iR  ARAEZFL 1-458 3,083 bl REEERY)
37 ZYWELEL| RE ks 119-13 10, 247 1 #HE (RD)
38 |FEYLLV/ELEW| KB mEE  119-14 1,806 bl REEE R
39 ‘YLWELEL| RE ks 119-17 5,871 1 #HE (RD)
40 FY= HHHE EIERR 23-24 1,255 bl REeEE R4)
41 Y=y R4 H/iR 164-180 3, 405 pu THHE RD)
42 ‘Y= A9 H/iR 164-182 3,314 pu #HE RD
43 e =Ly R4 TH 144 328 H #HE (RD)
44 SEY =Ly ZREiR ¥R 14-67 2,011 P #E (H29)
45 Y=y aHFHE BEIRERIR 23-185 560 1 HHE (H29)
46 EY= e g E  181-1 1,619 bl REEE (R6)
47 e =Ly % oA 181-3 487 1 REeEHE (R6)
48 FY= e g @\ 1814 1,475 bl REEE (R6)
49 e =Ly % R 182-1 3,006 1 REEHE (R6)
50 EY= e g @\ 182-3 954 bl REEE (R6)
51 e =Ly % oA 182-4 2,51 1 REEHE (R6)
52 EY= e g BE 252 4,422 bl REEE (R6)
53 FEY Ty Ef ) 181 135 M THHE (R4)
54 SEU Ly = = 182 202 H T#HE R4)
55 FEY Ty Ef =@E 183 108 M THHE (R4)
56 EY= =% = 184 138 H T#HE R4)
57 FEY =zl =2 EH 1941 93 M THHE (R4)
58 SEY =Ly =% EH 1942 50 H T#HE R4)
59 =YLy =R = 195 29 H THHE RA)
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60 Y=L HH =M 196 127 m THHE RY)
61 U120 N =@ 197 150 | M@ T R4)
62 Y1zl = =m 198 127 m THHE R
63 F Yt AW FH 207-297 302 | 4@ e (R
64 Y=L BEAK  FEH 207-298| 5205 | 4@ HE (R4)
65 F Yt A FH 207299 3 | im e (R4
66 Y=L A KIRHE  118-222| 5826 | 4@ e (R4
67 U120 A EJ/R158-133| 2,440 | i@ F#HE R4)
68 F U=l A E/RO158-135| 1,707 | 4@ FHHE R4)
69 F Yty A5 E/R158-136 | 1,968 | 4@ T R4)
70 Y=L A4 2H 21 1,287 | 48 | REEHE R4)
7 U120 A4 £/ 22 1,253 | 1@ | ReEE R4
72 Y=L A4 2H 32 265 | M@ | RLBE R
73 U120 @ E/R T2 3,00 | M T4 (R5)
74 Y=L B E/R 13- 809 | M THHE (RB)
75 U120 A  E/R 158-83 2,369 | /A T4 (R5)
76 |FYLL/ELEL| R T 350-411 1,772| i@ THHE (RB)
77 |FYLL/ELEL| R T 350-412 2,324 4B T4 (R5)
78 BLL BROREBIL 1-384 |50 "7 | B | B2EE RD)
79 F Yt T+HIl FHE 21-15 245 1@ | RLGE RS
80 Y=L FTHIl FHE 21-16 16| 4@ HE (R)
81 F Yt T+HIl FHE 23 1,127 1@ | RLGE RS
82 | F|YL/ELEW|REE s 56-1 1,800 4@ 4 (RS)
83 |FYLL/ELEWL|EE s 56-2 1,702 4@ 1 (RS)
84 BLEL SR tEA 45 3,225 HE (R)
85 BLE0 SR tEX 50 2,039 @ #1E (RS)
86 BLEL SR rER 522 368| M HE (R5)
87 F Yty T+HI =M 156-1 3,720, M@ T4 (R5)
88 F U 1=l THII =M 158-1 1,434 48 4 (R5) +I89188
89 U120 ZER BR 14-59 1,860 1A T4 (R5)
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BEES X4 RMOE (FHRTREAXT) |E@E (M) Rk E | zemonmws @6e
90 BLEWL HEH AFA 12-317 263 X REEE (RD)
91 BLEWL HEHH AFAQ 12-38 4,276| A ReE®E (R5)
92 BLEWL HEH AFA 115-1 2,059  4H REeEE (RD)
93 FEY Ty ZER  HEEE 105-2 2,999 M FHHE (RS)
94 YL/ E LU (IR T 491 1,999( A T#E (RD)
95 el =Ly Tall T8 190 1,559 A T#1E (RD)
96 ‘Y= Bx=pll! T8 191 886 A T#E (RD)
97 Y=y Tall T8 194 1,100( A T#E (RD)
98 EY= Bx=pll! T8 196-2 1,976 A T#E (RD)
99 e =Ly Tall T8 196-4 796 A T#1E (RD)
100 EY= B A s) g RRE 24 3,110[  #H T#E (R6)
101 el =Ly % REE 25 1,637 4@ TH#1E (R6)
102 EY= B A s) g RRE 26 1,294 4@ T#E (R6)
103 e =Ly % REE 30-1 1,566 4 ReE®E (R6)
104 EY= AR [N\ 208-34 3,327 MR |FHHME (204D
105 BEREELL |88 =1 57-1 653 M ReEHE (R6)
106 BLEZWL T+ =5 176 3,081 #EHs #E (R6)
107 gL Tt =@ 285 41| #iEH | BHE (R6)
108 SEbY =Ly iR T 350-369 1,902 4@ REEE (R6)
109 =0y iR we 201 1,953 H #H4E (R6)
110 EY= iR e 291 84| H T#E (R6)
111 Y=y iR L% 183-2 1,054 4@ T#1E (R6)
112 SEY =Ly iR T 350-32 127 pu T#4E (R6)
113 Y=y iR T 350-33 867| 4 T#1E (R6)
114 SEY =Ly iR T 350-81 194 4H T#4E (R6)
115 el =Ly &R T 350-82 1,732 4@ TH#1E (R6)




